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N.B:

1. All questions are compulsory.
2. All questions have internal choice.

3. Figures to the right indicate full marks.

Solve any two questions.
A) Explain the various concepts of birth rate and fertility rate.

B) Explain the demographic transitions during the process of development.

C) Discuss the unequal treatment within household.

Solve any two questions.
A) Explain the Lewis model of structural change.
B) Describe the trends of‘urbanization in India.

C) Describe the urban informal sector.

Solve any two questions.

A) Explain the role of agriculture sector in.economic development.

B) Explain the distribution of land ownership in«ndia.
C) Explain the structure of rural credit market.

Solve any two questions.
A) Explain the main causes of environmental problems.
B) Discuss the rural poverty and environmental destruction.

C) Discuss the industrialization and environmental pollution.

.~ Write short notes. (Any Two)

1)  Age structure of population.

2) Migration and development

3) Interlinkages between rural factor markets.

4) Common property resources
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